
B,A. Part-I (SeBrester-I) Examination

(Modcrn Iodian Language)

SANSKRIT (Compulsory)

Time :'lhrce Hoursl lMaximum Marks : 80

Note :-(1) ALL questions are compulsory.

(2) Write answen in the offered mcdium.

{fir:-(1) rf err 3rfflr{ 3n}d.

(2) rrfi e!-{ eifi ed i r

(++ :-(l) sfli {+fT qru-qrfi ftrElfrd

(2) rrl{ (fffi' qrqq } ftM r

1. (3{) Translate any TWO of the following : l0

il ftmE6a q\-qrfr *r .rar,riq .rlE-c F{r

ffffi A \To-rtuil 61 3r1el< +t :

(1) qgnrs (F{ari Irdlfugarc, I <rqr qfr{.q o(T+g L <rsErar€tcq e
, .srqFts:? I rJ*sfiE-FRl I rits+<-qrcitsa{ r ldt qi

$rqfi I i) iqradsR rqr
(2) l3i frr+te { lrd{REffi Rrro, r ral kig 66ag <furttrsmr*}q dzrqr'flc

T.q€ {{Kfr r t"{rqr(sTh E.rftdrft i, rjrsrt, tci{qRqr|dd fr*rsr {qr."sr r {sft)rrq
qrqft, +1-ilFa[.q EE, qdrl]d,

(3) l qqT Ciqft *Tqr[< fdq ? yqT<T(F{nE ifrsET{ r ila, E-Edciil6iiq \'rd{ rFt4
i-irfi g;a Hrd l sfrTrpr{qdqi{Frddfitiry1aq 1 rprorwcB< ft; qq cr"hr,
ftqg il4( flrrdqR FftTrrtvr{f, Eim 'Affslni {QEl.sr qq slfqzrqrqot+ r

(4) 5"r- dm, qrn ;{41qffi-{r++erwi 5se: L tt iqirq qqr*qqri-tsT{ r (f,e.r

(7 qEiil gaq rq'i 6?Ti Frriiqfr | drd, (.i q f$ rs qarRr{ s'T2ffiq. r

(s) How A-fud earned trust of sqrrE ? 6

Affi ;n<rilir EFffi {sr gqrfi +dr ?

{ff 1' frt tra6 qafls sr inrar( swfi fufl ?

oRd+{r,/sq4r

Why and how 'ssrz 3[st6' accepted the path of non-violence and place ?

ssr. 3lyirm 3rBal s srid-qr qrrlF+r rm aam ?

{sr. 3nif6 I 3rft{r $Tr pnft +r w +tr g{.FEr ?
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2. (3I) franslatc any TWO ot rhc follo*'ing : l0

'-cHa,1 i u.rfi irr -<tz.rt ..-r< F]r

f+(t + cr6.r-rt fl 31i[< qii

(1) 1961 d [:{inla -t}--{.q ,r:rq fi'{Tr-+ r+lil rfi .ryrt rar+t qftqdm 
t

rlGI-Ei{? 6i.qn )l : iifi f}Fff :i1-1qr1;l q iFIadE r q[aqi a q.dT irF{r:

{'cqr': rTrrrfil.fiTr1:I g4i:,r ,rcr m f{qlTq in, 3rfiq[iJ tq I rer qorql]rdt

EqqT ft-i- nir: : ) ei 4niafir- .ff;i riq rrirt E-ar{q-lqnr( r

(2) t997 di F*{.rA .GEqrqr{{iq 19 f@' qT q?I{qRri4stri r {dt r (sT sqql
go+n qZr qrdl (.]{il .=l r nET }-(q qlFl EE-qr 

:rTFr q(rlqr dqI: Edi{{R
# fo-, 3rlii--q 3rlrlfl .iar (rr+ls errt r goel qr-nqT f,qr {6 .r,i q..

rcqrB.r, gTtr( 
t

(3) .1{4ffii fltj-,i - qrq,Fr rnq sEfiicr{lE r +l rrq irfiA {rrffi dfi,r-is
Tg]FA iqri nrgIT: li'!rrT, ]{,{i.: 9i5'ftftfa ? n rz f4qB sTqlj ctid n sT

e}r6r: cgqifl: 1 ,1fiaffilf urir n ft Tq.rq: I ir?nft cftnqiiE dr<lqtq

w<5tr
(4) qffidrri qt F ,r4urii li S{ir 3,t }Rdr f4. oiiv+crtu: ,rT{mfi {f

ffi, m, r,?t Ii k<-crqr"-rffi1tft fdqi: :=qq*sqo': 6gnF, I filn qrFr Fq
slTFqfl[t r fr ;Trq sq6q(ngqr {-41: iaflqT?i <flFq+rrri 4l{ {ng ?

(a) Skctch the cha.acter of +,-q{I il-,r:r 6

6:rHr qr{ i frr'i..ftz trna

6-q4r qi{Jl a: ffiz ffi,rit

OR/ff{r./i{fir
Describe the "Oflice Unvironneni *'ith thc help of lcsson 'Fr."-li( +itq'lq'

liRr.i( dtsfi-{' qr r-6Tqi r 'ari +rqfrdH qrflE1ori sr{:r l.

:1eli( 6t{6e.' -lr. + :rLlr !i 6fqid{tl amqllt f{q< {i&} I

3. (x) 'Iranslate any TWO q ii+ts ol the following : I0

+ ?tT ed+i-:r gq.-E ';r
trfr * scl+] +l x--r,,rl 61fui

(l) Urts flq r+ftr aP* .,n "=*
ftiI fat-rtdt:nor .J{( "*rft g fi.rd, r

!,]+sE ifrlFt, rrffiT, !?r.T{r

r-Ir 4I{ LIUTTa Flqra ;IrE Si L I
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(2) 11 .qFflT rtmd.t egu 5,i1

Eg .qlE dri{ I friffi<T{ |

l gii t-rdr*fr ear) e ge]-Rt{

rr+qft q rTg .itw, itliiio: r+fu-q r r

(3) grr,,irfAs -r wg e{ a !-rft 6r.q Tqft-.qqaq r

(:d rfteqF(t(,Tq+ Xa: v{get-rgk, r r

(4) YRR i uq6 rrdk sfri sqk h €r) +q:

ffi Tdi i tda { d(lt Sqa, otrct"e r r

(<) Explain the skill of speech of E{qFI

almrn ar.+gd e+z e;1.

r1qri +t sr+.qgd rq,sz +1ftit r

OR /k{r/irirqr

Explain "gq'TBrd serq a-i".

'S"rf*o 3rerq r+' fr =d ee +t.
"EqTBrd 3rsq ri" qa i:lir (qsa qlBt I

4. (3{) Translatc ar-v TwO ri+1s of the follorving :

r{frFffi 6iiql.T.ff *q r*+ia 3ao-q f{l
Grff a rffii 6r cT{< +1fu}

(1) 3r5dv E gra licm ra gdil

qArrfi q fr*. 3trdiqriwi {t L

vA, Saroamlo qs Eihqa

"r).i MEn q6?ilrqr-Tqr | |

(2) fiEA( q q: tq'frrc-4w Tzs s
rt-Eere a fti-;n ,& {dqrd6: l

{d=a+{ fa}'il {-dcrd ,1+q

ger-tR rri--Xrr, 3{EtarfM q}( | |

(3) Aqr{r firfi'(I7tr.rrq.r(Ffrf,(ilrql:

1a uor^ai Eft$rgsq fufiff: I

3rqr.-cl ETriir+drr(a,itta<-.' 561
sqi-Xrs:rcaqhiq<frs clfi"r, i r

1t)

6
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(a) 3rEFT {iqqdirT 5,!1 rerwr,; r<.

dri l1(.nqErr3I!,rL'r'hFI rf Tq r

Tq. EllrFqlq .'n; :rqrql
q as,zteth{+.n 'ffc.i 

-t r{Tn{

(s) Exp ain the importance of trees according to the lesson 'gqt{Eq1'

E*,f+r'vrrr-+ sriari ;+;? r,:ra rr.u rn
'gql.i?{r' E-r i 3i 

'.,- 
. .l a6i1 qi'r q6iq EIrq drf}) r

oR/f+sr,/3{,rEr

W tc the cclebration of,rflrrl "r;rT, in your words_

-atqr qifr{r 6q}13 31-,-u' lF<Td:{dr.

qdkqr qTlt ;=rlm,r ;l,t e-i gr=i: ii tq.. +t

Choose the correct allcrnative of any 16 :

€Td-mi-dl s)q.qrfi 16 rr 1;i; *rq ,tqiq ft{fl ,

fi-aT to s.i i irq rq-' infui ,

(1) q6rf irrfrf+,i,y?r.T: q. r-. 6FT,A e+l-d: ?

(1) 3rqf (2) 3{1tr2-3i

(3) rir4{i

(2) oqlqtrrc e.d{frsq al: E ?

(l) grrflrs (2) 1I;(6Fs

(3) TaT+rrs

(3) *iaqE Eirr i,-EI: ?

(1) qq?q: (2) q&4:

(3) i{iq,
(a) 8ft{rrq {-qfi[q: rr ?

(1', r'B{{ rJ {s.ll (2) i7 q {4dr

(31 t{r4q f 3rr.rff

(5) lt{TirT qrr-{{r { 6.sT 1le,ff=ql .:j id ?

(l ) q-(Tr (2) drft-dT

(3) frtr+T

t

) l(;
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(6) si-r{If,{Tq€ FRql T{A ft{E, ?

(1) qdsrda (2) arnfrrft

(3) ftzqz

(7) f-(rqlq il afu<r lffiT sF,lFr F{nft ?

(1) {6ff Yrci{ (2) qddf qrRq+}

(3) {€"ff 3flrd

(8) {r<rrFq +rrt ei+r ia ftffor ?

(l) fM (2) 4d-{d

C) g+T{ifi

(9) .fi-atrdT {Frqe {s gxe eu: 7a: ?

(t) fr\tsq: (2) 3rsr{tl]{:

(3) sr(a:

(lo)$flilT arrffi fa qrrrrs +fr ft:rrfi cr.fur fdr ?

(l) r"q (2) HF

(3) *Fr

( I I ) {r"{4r( {rirrer 6: ?

(1) E''dT{6: (2) ql q6

r1r ftg:o

(12) {srers 
-qu: +n ff,: ?

(l) rrr<: (2) s,tu,

(:) ctqn
(13){sqE qrl: qH?

(r) F+di (2) qFsa

(3) ftftrar

(14) a6rflTt rrsql deK 3rrqdr ?

(l) iq, (2) (fiq:

(3) $-i
(ls) F61"d;rs +rt 6] ?

(1) qIffi (2) liFrdr

(3) sslLql
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(16) +tljrii: -rqr T{ 'lf:,: " ir. i
(l) (qsr

(3) trqrqt

(17) :.hrq. lri'zq1' tF t,'t q-- i ..( {'

(l) {ar

(3) i{qi-r
(18) {Ell+qfu +r sntl <.r"- ?

(l'r frI{:
(3) firE:

(19) FrqFsfH qq: +r= F i

(l ) deq'ql

(3) gffq

(20) fr{lqFr (rErqtf +;r rq. }ltrd, ?

(2) ,r {t

(l) .i qrln

(r) riii"

(2) {lira

(2) 3lrl(rrail(1)

(3) i{
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